0 At what temperagyreg isw

_ ater a gag9
@ below 0 o
above 1005
© between 0 °C and 100 °C

)

Study the foﬂowing diagram,

Gés quuiq @Solid

What word belongs on arrow 2?

© freezing

@ melting

between 0 °C and 12 °C

@ condensation
e’vaporation_‘

Jakob studied drawings of the particles in
the same substance. The drawings show
the substance in different states and
temperatures. Which shows the substance
at the highest temperature?

AG

1ting
@O The table shows the rorent subst

boiling points for differ

e L, el kS SEEEE T g point (°C)
ing poin
Substance | Melting i/_ 2519
aluminum 660 ,..——f-—rsz"’/
- chloring -101 g
copper 1085 P
34
gold 106
357
mercury -39 pros
—-219
oxygen ‘
7 162
" silver 962 2555
5
tungsten 3422

Suppose these substances were placed in a
freezer set to =50 °C. Which substance

would become a liquid?
&) chlorine

mercury

© oxygén

@ tungsteh

O Matter may be a gas, solid, or liquid. It can
change from one state ¢ another. Which

change most often causes matter tq change
state? ' '

@ change in magg

change in cojor. .

© change in volyme
change in temPeIatUré
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M 9
Mass and volume decreage
© ass and volume increage
Mass InCreases ang volu
same.

® Mass Stays the same and voly
increases. e

me stays the

9 A closed jar containg 150 grams of ice in

300 f?rrams of liquid water. After sitting for
a whl.le, half of the ice has melted, thich
description of the mass is now correct?

(®)  The mass of the ice is 0 grams, and
~ the mass of the liquid water is

375 grams. .

The mass of the ice is. 75 grams, and
the mass of the liquid water is .
375 grams.

(© The mass of the ice is 75 grams, and
the mass of the liquid water is
300 grams.

@ The mass of the ice is 150 grams, and
the mass of the liquid water is
300 grams.

9 What happens to the mass and the volume
of an ice cube as it melts?

(A Mass and volume decrease.
Mass and volume increase.’
(©) Mass decreases and volume stays the

same.
Mass stays the same and volume

decreases.

» Quiz -~ -
L.Omﬂm"mn Mifflin Harcourt Publishing Gompary

eps:
9 An experiment includes these step

ina
grams of water 1%

Step 1: Place 500
container.
Step 2: Freeze the water
Step 3: Measure the mass-
Step 4: Allow the water tO
Step 5: Measure the mass.

melt.

ing the
What will happen to the mass Ui

experiment?

@) Tt will not chan
Step 5. .

It will decrease in Step
in Step 5.

(© Itwill increase in Step 3 and
in Step 5.

(@ Itwillincrease in Step 3 and increase
in Step 5.

ge in either Step 3 OF
3 and increase

decrease

During an experiment, a student measures
the mass of ice and of liquid water and
then places the mixture into a freezer fora
day. The table shows the data.

Mass of Mass of Mass After
Ice | Liquid Water | the Change
50 grams 75 grarﬁé 1 e

What will the student mdst likely ha\}e at
the end of the experiment?

(® 100 grams of ice
125 grams of ice
© 125 grams of liquid water
(@ 150 grams of liquid water

Grac?e 5 Afsgssment Guide
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How Does Matter Change?

o A beaker of water is pl

: aced on a hot plate.
The picture on the left g

shows the beaker
when bubbles first start forming in the

0 .
: ater. The chture on the right shows the
eaker 5 minuteg later.

Time = 0 min Time = 5 min

What happened during the 5 minutes?

(A) Water was changed into energy
during a chemical change.

Water was changed into a different
state during a physical change.

© Water was changed into a different
material during a physical change.

@ Water was changed into a different
material during a chemical change.

9 How does cutting a whole pumpkin pie
into eight slices affect its mass?

(A) Cutting the pie increases its mass.
Cutting the pie decreases its mass.
(© Cutting the pié does not change its
© mass. ,
@ Cutting the pie makes its mass»equal»
to its volume.

Legson Quiz
© Houghton Mifflin Harcourt Publishing Company
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s ma

€© Studentsin? CI;SGIT» sict
that involve 8¢ 1d be incl

these changcs shou

list?

® ringing 2 pell |

® making i€ cubes
© picking upP rocks‘,
@ making panc

@) Tbetable lists sOme =
changes and physicat ©

03 31

burning leaves

toasting a bagel

ouring milk into @
glass
freezing water into ice
cubes

baking a loaf of bread

I
crumpling aluminum
foil into a ball

Which example is in the wrong column?
" sharpening a pencil
baking a loaf of bread
(© pouring milk into a glass
(®) crumpling aluminum foil into a ball

© Which of the following represeﬂts a
physical change?

Scanned by CamScanner



O Adi color
dding food coloring 10 water Create
reates a

solution. Which
. | of these is
solutions? © 18 true of all

®
©
©

They all include water.
The parts are evenly mixed.
They are all liquids or gases.

The substances are permanently
combined.

The figure shows a tool tha is used to
‘Separate certain types of mixtures.

This type of tool is best used to separate
what type of mixture?

®
©

®

a mixture that is a solution
a mixture that is partly magnetic
a mixture of particles that have

different sizes
a mixture of particles that are all

about the same size

A company collects cans for recycling.
Some cans are made of aluminum, and
others are made of steel. Which of the
following is the best way to separate the
mixture of the two types of cans?

®

©
@

on Quiz
Mittiin Harcourt Pu

by size

by shape

by magnetism
by evaporation

Leoss biishing Company

© Houghtant

W n
hat Are Mixtures and SoJutions?

(5]

AG 138

@) A mixture Contair:jsissolv
2 grams Of S“.gar mi

of water. d
most likely have

(8]

4 grams of salt,
£ water

300 grams ©
4 grams of salt, 8 8137
400 grams of water

i jxture.
The pot contains & pixt

cture can be

thod shown in the pi
f mixture?

The me
used to separate what type€ O

n, such as salt water
articles with different

a solutio
a mixture of p

densities
a mixture of particles of different

s_izes, such as seashells and sand
a mixture of steel, which is magnetic,
and aluminum, which is not magnetic

®

©
©

Grade 5 - Assessment Guide
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A Nutnient
Uthient solution to

Which would dissolye the

@ e Powder fagstegto
. ing the cap vigorously

Stirring the solution slowly

tilting the can carefu]]

side Yy from side to

setting the can dowy, -
own and leavino ;
alone caving it

DeShawn has to dissolve salt crystals in
Water. What would be the best thing to do
to help the crystals dissolve quickly?

®
©
®

Reggie has a sample of raw sugar made up
of large particles and a sample of white
sugar made up of much smaller particles.
He dissolved 1 tsp of each sample in 1 cup
of water. Which dissolved faster?

®

heat the salt crystals

crush the salt crystals
cool the water in the tank
use the largest salt crystals

Both dissolved at the same rate.

The white sugar dissolved slowly,

and the raw sugar dissolved quickly.

The white sugar dissolved quickly,
and the raw sugar dissolved slowly.

The white sugar dissolved quickly,

and the raw sugar did not d@ssolwe.

©
C)

AG 139

Lesson QUIZ  _ sting Comesny

@ Houghto! wiftlin Harcou!

—————

0 Salim added 1 & of saltt o s
beakers filled with water- corde 4 how

water at different speeds
0
long it took for the §

T

No stirring

Slow stirring

Medium stiring | ___
- 6

| Faststitiig | _— )
ould Salim dra¥’

Which conclusion sh
@ Salt will not disso
the water is stirred.

Stirring water increases th
which a salt dissolves-
Stirring water decreases the raté at

which a salt dissolves.
Stirring has no effect on the
which a salt dissolves.

Jve in water unless

e raté at

rate at

9 Four students each added salt crystals to
-water and measured the time it took for all

the crystals to dissolve. The following
table shows their results.

" Suidort | Temporature (°C) | Time (sec)
| Marcus 10 85
Tyra 25 40
Luis 50 5
Athena 75 15

Athena repeated the investigation using
water heated to 40 °C. Which is the time
most likely measured by Athena?

@ 10 gec © 30 sec

2l e @ 50 sec

Grade 5 . Assessment Guide

Scanned by CamScanner



Name __

T ——

T ————

What Is Atomic Theory?

S
o amir drew (wo atoms ag shown in th
followmg> illustration. :

Which Statement is trye?

(A They are atoms of two different
elements,

They are both atoms of the same
element.

© Atom 1 has a positive charge, and
Atorn 2 has a negative charge.

(@ Atom 2 has a positive charge, and
AtQm 1 has a negative charge.

e Atoms are made up of smaller particles
called subatomic particles. Which is a
subatomic particle that has no charge?

@A electron (© nucleus
neutron (@) proton

e Every atom has a center called the nucleus.

The nucleus has a positive charge. Which
particles are found in the nucleus?

@ neutrons only
protons only
© electrons and protons

neutrons and protons-:

€) The following '

different atorms.

N
electron® |

Atom 1 ———

8

Atom2 | @~
Atom 3

8
10

Atom 4

10

Which is true?

® Eachatomis@ di

Only atoms 3 and 4 2r¢
element.

© Atom3 is a differ
all the others.

(D) Atom4isa d
all the others.

fferent element.

the same
ent element from

ifferent element from

A scientist is examining two atoms. One
has a nucleus with five protons and five
neutrons surrounded by five electrons. The
other has a nucleus with five protons and
six neutrons surrounded by five electrons.
What can the scientist conclude about
these two atoms?

(A They have different charges.
(B They are the same element.

(© They are not made of matter.
(® They cannot form compounds.

AG 140
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rmed bY

o What j.S th 42NCEe fO
€ term T, ) g a substa
SOrnething akesg uos the amouny of Space @ which term an::’o_f atoms that are
@ : two or Imore typbincd?
Matter ‘ ically com .
deng; © volume ghesmes solution
ensity “tter cule
e @ temperature @ mafte @ mole
S ixture
}\:Zl})uch IS the begt description of what ® m he smallest unit of 2
en ing : . o ; the :
pens dUrmg a chemical reaction? o Which term 1131::; has the pI'OPerueS of
substance
® A Substance goes through a chemical p;: rte Sbu:)stance?
change. tha clement
The physical properties of a @ atom ® molecule
substance are chap ged. matter
© Anew substance is formed during a © Which term of phrase best describes what
chemical change. happens when 2 tomato rots?
(@ The type of matter in the substance . "
' remains unchanged. physical chang
chemical change
9 Which term means “a combinati?n of two © conservation of mass
or anore substances that keep their v @© formation of ac ompound
identities”?
(A) matter (© solution Science Concepts |
(B) mixture @ compound | @ The states of matter differ in many ways,
R - including shape and volume. The
i ify a mixture ] . .
@) Wwhat termis used to i en‘t.y hronghaie?  following three figures show the particles
. n H . . . .
that has the same compositio 8 in a solid, a liquid, and a gas.
liquid (©) solution YO
(B) element (D) compound ) Q:Q ‘(j%
i he type of matter made A 1O Q(‘)"O
(5] Whlchtermpamestetzp I PACO. S
of just one kind of atom . 3
Which of '
@ oiid © molecule o the following correctly
( g 1dentifies the state of matter?
(8) element (@ compoun |
L @ 3: gas © iy -
25 L: liquid
- solid o
® 2 liquid
AG 141
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Name

©

L]
I'he
praph
Al Ph shows (e changes ;
rat sea level BCS In state of

’ S
120 nm__E?E‘I?m‘ﬂ_M_ftlor: Water
..... 100 TR Sw—
ator vapor
& 6o e A
g A0 |, _l_‘!g_mdv-\.l{;i;)}—" s s
§ 20[— e
= T E—— o nb—
Q e S
~20 koo R

Base ‘ "
sed on the graph, which of the

following is true?

®

Liquid >t boils

Juid water boils at temperatures
between 0 °C and 100 °C

Solid water melt i

Solid water melts, forming liguid
water, at temperatures below 0 °C.
Liquid water freezes, forming solid
water, at temperatures greater than
0°C.

Water vapor condenses into liquid
water when temperatures drop
below 100 °C.

©
®

There are different characteristics for
each of the states of matter. Which
statement describes a difference

between liquids and solids?

®

Temperature can change a solid to
a liquid, but it cannot change a
liquid to & solid.

Solids have a definite volume and
liquids do not have a definite
volume.

The particles in a solid are much
closer together than the particles in
a liquid.

Solids take on the shape of their
containers and liquids maintain
their own shapes.

®
©
©)

Unit Test

‘ ishing Company
& Roughion iHflin Hareourt Puklls 14} :
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A cup holds I

for the water int

@ 1775 grams
(B 215 prams

®

L (LR

05 grams of li

What 19 @
p after the

@ 2725 grams
o) 23() grams

100 grams of ice.
he cu

X
(er change as it cvupomtc.sl

[How does Wi
yvolnme decrease.

Its mass and

g and yolume increase.

(s mis
ts mass remains unch
volum
[ts mass in¢
unchanged.

®
©

0

anged. Its

¢ increases. '
reases. 1ts volume remains

udyiﬁg what happens t0

ges state. They found
Which of these

Riley and Jill are st
matter when it chan
this list of statements.
statements is true?
@ When matter changes state, its mass
changes.

When matter changes state, its mass
remains the same.

When matter changes state, its boiling
point might also change. '

©

When matter changes state, the space

between particles in the matter stays
the same.

Grade 5 - Assessment Guid:
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Dertery ™ 1
@ Peter places SIX balls of

on one side of .

" side, It takes 41

alance the , i
: : 1€ modeliy
clay. He then removes o

into a dino
balance.

1€ clay, shapes it
Saur, and putg j back on the

How many cubes wil] he most likely
need to put into the cup to balance the

dinosaur?
@ 35 cubes @ 41 cubes
38 cubes (D) 47 cubes

‘E The following illustration shows a tool
that can be used to separate elements of
certain mixtures.

This tool can separate what type of
mixture?
@ a solution of two solids
a mixture of particles with different
densities
(© amixtre of particles of different
sizes
(D) amixture of magnetic and -
ponmagnetic items

- Date ___—— fyilt

t
rime”
Kym has set up 2 8 1160 m jans ©
: dled W am
beakers, each fllled‘:ratufcs" ) ]cof sugdl o
\ m ine 1
four different t© p es for 1 5P detefmme

time how long 1t

emperali’sc - ugar ©
dissolve at each 70

il &

ew ‘
there is a trend: Sater without St;lcr results 1
4 w *
-h beaker of 10
each beax e, & en P graphs
for it to dissoiVe {lowin&

h. Which of the 1

a grap ely show

would most l‘ik 9
Kym's experiment”

AG 143

Unit Test
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% 6
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=10
£ 8
Eg
g 4
= 2
| 0 Cold Room- Warm Hot
water 'temperature watey waler
water
=10
£ 8
X
g 4
- 2
0 -
Cold Room- Warm Hot
water temperature water water
water
'810
;’ 6
E 4
= 2
0
Cod R
oom-
water temperature warm Hot
ater wat
water alar
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@ Sergio wanted to find out if changing the
terflperature of a solution changed how
quickly §alt dissolved in it. First, he
tested a control solution at room,
temperature, or 25 °C, and measured
how fast salt dissolved in the solution
Next, he cooled solution A to 10 °C '
heated solution B to 40 °C, and add(i,d
S?lt to each. How quickly did the salt
dissolve in solutions A and B compared
to the control solution?

@ faster for both Solution A and
Solution B

faster for Solution A and more
slowly for Solution B

(© more slowly for Solution A and
faster for Solution B

(@) more slowly for both Solution A
and Solution B

@ Claire is studying how quickly sugar
dissolves in warm and cold water. First,
she dissolves a 4 g sample of raw sugar,
as shown in the following figure, in both
warm and cold water. Then, she
dissolves a 4 g sample of white sugar, as
shown in the following figure, in both
warm and cold water.

o ;n_, y a
fa;

8 " - 7
e ™
RN e e Xf«:;“\:* -~ ,,a./«
? s e i
% = % :
=

Raw sugar White sugar

In which of the following solutions
would the sugar dissolve the slowest?
@) raw sugar, cold water

raw sugar, warm water

(€ white sugar, cold water -

@ Four students are dissolving suga

@ A scientist draw

(D) white sugar, warm water

Unit Test
. © Houghton Mifflin Harcourt Publishing Company
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Date

in water

dent

nt. Bach stU
© ot water

to perform an experim
up of

dissolved 1 tsp of sugar in 1 ¢

and stirred ths waterga different number. ?f
times. The students recorded how 1oﬂi;

took for the sugar {0 dissolve in eac‘h f;\')le.
The results are shown in the following

[Stirring
zero stirs
two stirs
four stirs
six stirs
Which of the following happene
number of stirs increased?

d as the

(A) The speed of dissolving increased.

The speed of dissolving
© The amount of sugar dissolved

increased.

@ The amount of su
decreased.

decreased.

gar dissolved

s a model of water and a
in the

model of hydrogen peroxide, as shown

following illustration.

Water Hydrogen peroxide

Which statement is true?

@ Water is a molecule, and hydrogen
peroxide is an atom.
Water is an atom, and hydrogen
peroxide is a molecule.
© The two chemicals have different kind:
of elements in their molecules.
() The two chemicals have different
numbers of atoms in their molecules.

Grade 5 - Assessment Gu
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